SEXTO de Primaria
. ——_Sumas con decimales ____

Solucién
243°02 + 97°624 + 740879 = 1.081°523 1.362°89 + 769032 + 54387 = 2.186°309
24302 136289
+ 97624 + 769032
740879 54387
1.081523 2186309
364°704 + 82'51 + 743°676 = 1.190°890 00342°2 +1.826°108 + 15724 =11.184°032
364704 9.342°2
+ 8251 + 1826108
743676 15724
1190890 11184032
7289 +51°036 + 254°375 + 18°6 = 341°294 8236 + 135864 + 476°022 + 20 = 714°276
7289 8236
+ 51036 + 135894
254’375 476022
186 20
341294 714276
0’124 + 1726 + 35786 + 2°75 = 557920 3587 + 12428 + 365034 + 57°1 = 793°262
0124 3587
1726 , 12428
* 35786 365034
2’75 571
55920 793262
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